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Munsell System Y,,=100, Xw=96,79,Y,,=100,00,7,,=111,46 B0 oS 520 525 Munsell System Y,,=100, Xy=96,79,Y,,=100,00,Z,,=111,46 B*
Py C=2,V=1,2,5,8&9, %y=0,3140y,,=0,3243 20 081" C=2,V=1,2,5,8&9, X=0,3140y,=0,3243 10
c @ Gpmaticity (x.) Ag=(@a0-{20,4+20 x*20,Y) ¥ i Ghrpmaticity (x,) " 0=(@0-[20,1+20 a*20,¥) Vil Y1) M3
(4] S y : - 13
21 ) Bo=(bo=[bo,n*bo,a*bo,v]) Y B*g=(bo~[bo,n*bo,a+bo,v]) Y1(Y/Y19)
> 39 = ago [X/Y] 39 = g0 [X/y]
3.0, by = bao [2/Y] by = byo [2/4]
03 80=1, byp=-0,4 A, ay=1, byy=-0,4 A%,
Q 2. . . . )
_ Q_J n = Mex -10 n = Mex ~10 ) ) 10
5= 2625 ag y=apy(Y/Y1g-1) 2625 ag,y=ag,(Y/Y1g-1) & X
6.., — 495¢,E bo,y=bay(Y/Y1g-1) A05n b Bo.y=bay(Y/Y1g-1) N
= agy=-0,017,b,y=0,012 apy=-0,017,0,=0,012
§ 8 39,4=0,000,bg =0,000 a9,4=0,000,b A=0,000
=y CIE 1931 X Munsell System Y,,=100, CIE 1931 X Munsell System Y,,=100,
—_ n T C=2,V=1,2,5,8&9, T-10 X C=2,Vv=1,2,5,8&9, T-10
M 6@ 0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ag, Bo) 0,0 0,2 0,4 0,6 0,8 1,0 chroma (A%, B*o)
S = CE680-1A 6 CE680-2A 6 CE681-1A 6 CE6B1-2A 6
F= Xw=96,79,Y,,=100,002,~111,46 B, Xw=96,79Y,,=100,00Z,~111,46 B, Xy=96,79,Y,=100,00Z,~111,46 B* Xw=96.79,Y,,=100,002,~111,46 B*,,
=4 X=0,3140y,=0,3243 %y=0,3140y,,=0,3243 2.0 *y=0,3140y,,=0,3243 10 X=0,3140y,=0,3243 2.0
O o Ar=(ag[aq n*ag atayy]) Y Ar=(ag—[ag ntaz atapv]) Y A* 1=(31‘[31,n+31,A+31,v])Y18(Y/Y15)1;§ A 2:(32_[a2.n+a2.A+aZ.Y])Y18(Y/Y18)1g
=® By=(b1=[by,ntby atby v]) Y Bo=(by=[b b atbp v]) Y * 1701 [0, +01 A*D1 v]) Yag(Y/Y19) B*5=(bp=[b2 ntbp A+by v]) Y1(Y/Y19)
ol a =y [(x-0,171/] a =g [(x-0,171)/y] 4L ay =y [(x=0,171/y] A = [(x-0,171/] 4L
Q- by =byo[2/4] ;=50 [(MpyX+hp)/y] by = by [2/4] b=z [(Mp1x+bpy)/y]
oc 80=1, byp=-04 A ay=1 by=-04 A =1, by=-04 A* 80=1, by=-04 A*
D L mp1=1,000,b 1 Mp;=—0,160,bp,=0,389 2 mp;=1,000,b5;=0,171 \ | a Mp1=-0,160,b5,=0,389 | 2
el (_-2 n = Mex ~10 10 n = Mex ~10 10 n = Mex _10 ) ) 10 n = Mex ~10 ) 10
— = ag y=agy(Y/Y1g~1) ay y=agy(Y/Y1g~1) ay y=a(Y/Y1g-1) EX ay y=agy(Y/Y1g-1) EX
g 5 by v=boy(Y/Y1g-1) by y=boy(Y/Y1g-1) by y=bay(Y/Y1g-1) 02 y=bay(Y/Y1g-1)

Y o ayy=-0,013,b,,=0,008 ayy=-0,013,b,,=0,008 T a2y=—0,013,b2y=0,008 azy=—0,013,b2y=0,008 T
Q o a3 4=0,000,b; A=0,000 a A=0,000,b, A=0,000 a3 4=0,000,b; »=0,000 a 4=0,000,b, A=0,000
—_— Q Munsell System Y,,=100, Munsell System Y,,=100, Munsell System Y,,=100, Munsell System Y,,=100,

5. O C=2,Vv=1,2,5,8&9, C=2,V=1,2,5,8&9, T-10 C=2,V=1,2,5,88&9, -10 C=2,Vv=1,2,5,8&9, T-10
-Q m chromatic value (A, B;) chromatic value (A,, B) chroma (A*;, B*4) chroma (A*,, B*»)
o)) CE680-3A 6 CE680-4A 6 CE681-3A 6 CEGB1-4A 6
® Q Xw=96,79,Y,,=100,00,Z,,=111,46 B3 Xw=96,79,Y,,=100,00,7,,=111,46 B4 Xw=96,79,Y,,=100,00,2,~111,46 B* Xy=96,79,Y,,=100,00,2,,=111,46 B*
2 O Xy=0,3140y,,=0,3243 10 Xy=0,3140y,,=0,3243 +10 xy=0,3140y,,=0,3243 10 xy=0,3140y,,=0,3243 10
=M Az=(ag-[agntaz ataz y]) Y Ag=(as[ag ity ataayl) Y A*3:(33_[33,n+a3,A+a3,Y])Y18(Y/Ylﬂ)5§ *4:(a4_[a4.n+a4.A+a4.Y])Y18(Y/Yla)1;g
= o B3=(bg=[b3,rtbs atbs v]) Y B4=(b4=[04,rtbs, atba v]) Y * 37(b3=[l03 03 AtD3 v]) Y15(Y/Y19) B* 4=(b4=[bs,n*bs a+ba v]) Y15(Y/Y15)
oS © a3 = a0 [(x-0,179/y] ay = ag [(x-0,172/y] 4L a3 = a0 [(x-0,172/y] ay = a [(x-0,179/y]
= I b=y [(Mpx+bp1)/y] b=y [(Mpyx+hp)/y] b3=hs0 [(Mp1x+bp1)/y] b=z [(Mp1x+bpy)/y]

o S a0= 1, by = 0,4 A ax=1, byy= 0,4 A ay0= 1, byo= -0/4 A* ax=1, byo= 0,4 Ax
B — Mp1=-0,974,b,=0,658 5 Mpy=-0,169,p;=0.3 4 Mp1=-0,974,b,=0,658 3 Mp=-0,160b:=0,389 | , 4
S < n = Mex ~10 10 n = Mex 10 n = Mex ~10 10 n = Mex ~10 ) ) 10
= ag y=apy(Y/Y1g-1) ay y=apy(Y/Y1g-1) ex ag y=agy(Y/Y1g-1) ay y=ag,(Y/Y1g-1) hex
~ b3 v=boy(Y/Y1g-1) by y=boy(Y/Y1g-1) 1 b3 v=boy(Y/Y1g-1) by v=byy(Y/Y1g-1) 1
© apy=-0,013b,y=0,008 ayy=-0,013b,y=0,008 ay,7-0,013,0,=0,008 a5,=-0,013,0,,=0,008
'm ag 4=0,000,b3 ,=0,000 ay,=0,000,b4 A=0,000 az 4=0,000,b3 »=0,000 ay,4=0,000,b4 A=0,000
o Munsell System Y,,=100, Munsell System Y,,=100, Munsell System Y,,=100, Munsell System Y,,=100,

D C=2,Vv=1,2,5,8&9, C=2,V=1,2,5,88&9, T-10 C=2,V=1,2,5,8&9, C=2,Vv=1,2,5,8&9, T-10
iy chromatic value (A3, Ba) chromatic value (A4, By) chroma (A*3, B*3) chroma (A*,4, B*4)
a CE680-5A 6 CE680-6A 6 CE6B1-5A 6 CE6B1-6A 6
l Xw=96,79,Y,,=100,00Z,~111,46 B, Xw=96,79,Y,,=100,00Z,111,46 B, Xy=96,79,Y,=100,00Z,,~111,46 B* Xw=96,79,Y,,=100,00Z,~111,46 B*
é"‘ X=0,3140y,,=0,3243 10 %y=0,3140y,,=0,3243 10 *=0,3140y,,=0,3243 a0 X=0,3140y,=0,3243 a0
L o As=(as=[as ntas atasy]) Y Ae=(ag=[a6 ntas a*ag,v]) Y *5=(35‘[35,n+35,A+as,v])Y18(Y/Y15)l B *6:(36_[aﬁ.n+aﬁ.A+aﬁ.Y])Y18(YlYla)l B
Bg=(bs—[bs,r+bs a*bs v]) Y Bg=(bs~[bg,n*b6,a*bs ) Y B*5=(bs5~[bs +bs Atbs v]) Y1g(Y/Y19) B*6=(bg~[bs,n*bs,A*bg, v]) Y15(Y/Y15)
3 a5=ay,[(0,861x-0,719/-0,026)¥] ag=apy[x/y] ag=ap,[(0,861x-0,719/-0,026)¥] ag = ap,[x/y] 1
@ bs=b5,{(0,19%+0,386/-0,240)¥] b=y, [(Mp1x+bp1)/y] b5=h,,{(0,19%+0,386/-0,240)¥] b=, [(Mp1x+bp1)/y]
=. a,,=1,00,b,,=1,00 A a,,=1,00,b,,=-0,40 a,=1,00,b,,=1,00 A* ay,=1,00,b,,=—-0,40 A*
N Ag,G,y,R=475,503,574,494c, S mp;=-0,974,by,=0,658 A6 ABVG'V'R:MS,503,57I,4,494c,E=nm ' #5 mD1=—0,974,bm:0,ﬁl58 ' ' > 6
n = Mex -10 10 n = Mex -10 10 n = Mex -10 10 n = Mex -10 10
as y=apy(Y/Y1g-1) X ag y=apy(Y/Y1g-1) a5 y=agy(Y/Y1g-1) ex ag y=ag,(Y/Y1g-1) eX
b v=boy(Y/Y15-1) bg y=boy(Y/Y1g-1) s v=b5,(Y/Y1g-1) b v=ba(Y/Y1g-1)
apy=-0,001,b,y=0,000 agy=-0,016,b,y=0,006 T a5y7-0,001,5,=0,000 ap,=-0,016,0,,=0,006 T
a5 5=0,000,05,,=0,000 2 4=0,000,b5,4=0,000 a5 =0,000,b5 4=0,000 ag 4=0,000,05 4=0,000
Munsell System Y,,=100, Munsell System Y,,=100, Munsell System Y,,=100, Munsell System Y,,=100,
C=2,Vv=1,2,5,8&9, -10 C=2,V=1,2,5,8&9, T-10 C=2,V=1,2,5,8&9, -10 C=2,Vv=1,2,5,8&9, T-10
chromatic value (Ag, Bs) chromatic value (Ag, Bg) chroma (A*s5, B*g) chroma (A*g, B*g)
CE680-7A 6 CEO80-7N CE680-8A 6 CE6B1-7A 6 - CE6B1-8A 6
- * * H . —
TUB-test chart CE68X, y), chromatic valuesA, B;), chroma A*;, B*;), adaptation: 5A=0, S5Y#0
Munsell Chroma2, Value=1,2,5,8 &9; experimental illuminant M (X, Yex=(0,3140, 0,3244)
™ ] M Y [0) L \Y

9}




